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Unit 8 Practice Test

Polynomials

1. Add or Subtract. Please write your answer in standard form.

Rx =5y +2D+Gx+6y—T7 | @—-Tg—-4H+Bq+2p—1

(2% —5)r= (& —iZ) (Bm + 5) — (—=2m + 3)

Gx—=3t—T7)—(x—2t—3) (a=3b+5)—(—a+2b+3)

G2 +5n—6)+ (—n*—3n+3)| (P+ey—5+(—y"—3y—1

G2 —dx—2)— (x> —4x+7) | (P=H=-5-(y-T+t4

(l13 - 3Ll2l’ + 2"\"2) + (3“21’ - 2”\)2 - \)3) (2_1-2); _ 3_’\'};2 — )73) -+ (.2'\'2)1 — _ryz)

(3a® — 2ab®) — (a® — 4ab* — b’) 0% — 3pP + ) — (—p*q + ¢




2. Multiply. Please write your answer in standard form.

—
X « X2

(ab*)(a*b)

(4y%2)(2yz*)

(ab®)(5a°b*)(3a’)

(—:27(12) (21a°)

(—a*b)(—a*b*)(—ab?)

ab(a + b)

2x°y(2x* = 3xy + y%)

%xz(6x?‘ — 9xy — 3y?)

x+ Dx+5)

(3a — 2)(a — 3)

(3x1 5)(2x—.3)

By — 4)(y — 2y* + 6)

2r — s)(s* + 4r> — 4rs)




3. Divide. Please state the expression in simplest form.

24 9c*
D2 3¢
3

Oc” 3xy

3¢ T

(—0)%y

xy*z’ 2a°h — 6a°b* + dab’
©y’z 2ab

om> + 12m* — 6m’ 28r3s% + 42r%s — 56rs®

3 29
—m —TIres®

3m + 9 X6

m+ 3 36 — 32




B> —9 6y + 30
1) + 3 }.3 . 25
(x + )(2x + 1) 25 — b*

(1 + 2)(x — 3)

b* + 12b + 35

_25¢ + 15d 4b> = 5b — 6
50¢2 + 30d* 8h> + 6b
a> + 8a + 16 2x)

16 — a?




4. Factor completely.

2 2
uv-r — uvs

ab®* — a*b

2
wr- — 2ar

x% —3x — 28

2+ 8+ 12

y* — S5y — 14

3
cc—c—6

Om> — 25mn — 6n°

7 2
3m= + llmn + 6n°

o

o
|
—

4x

.
a* — b*




Factor completely.

6¢% + 18cd + 12d° 6u’v — 11uv? — 10u?v?
16x°y? — xy° 2a* — 184°
5a> + 10ab + 5b> 6c2 + 18cd + 1247




